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02 HAFHAANGFEE 200,000 200,000 0
S (230t2) gAY 200,000
80,000

36,000
84,000

HH A

SEIIM dsE8S NIAMG(EX) 16,900 16,900 0
6,760
,140

M
>

301 LEE NS 16,900 16,900 0

6,760
,140

M
>

12IIEtE 4= 16,900 16,900 0
ORYRAM(ERA) ds8s N
1,000,000+1270 & 12,000

4,800

H
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<

n0

Kio

Hl w

20,000

20,000

20,000

60,000

60,000

60,000

750,000

750,000

H3r
Wikd
RIS

10,000

10,000

10,000

Off &t 24

[t

7,200
2,400

960
1,440
2,500

H

1

W

1,000
1,500
10,000

i

H

5,000
5,000
10,000

mH

H

5,000
5,000
10,000
10,000

mH

H

5,000
5,000
20,000

H

H

8,000
12,000
20,000

1

H

8,000
12,000
20,000
20,000

i

H

8,000
12,000
60,000
30,000

mH

fir

H

9,000
21,000
60,000
30,000

fir

9,000
21,000
60,000
60,000
30,000

i

i

H

9,000
21,000
750,000
300,000
450,000

i

1y

i

750,000

1y

300,000

450,000

mH

SHl

el
A0

o

[¢]
i[3]
180

307 21201 &

Ki
iy
&1

<0
RO
~J

ol

At X

e

ORMeil&éd

2

I

o}

9

S=0| S

bS
al

q

307 21201 A

K1

ol

-,

<0
R0
~J

oJ

T2

t

104

=1

o
Hn
150
KJ

ol

0
o

-

<J
U3
&)
i
ar

307 glztol &

Kd
H
a0
<0
R0
|

ol

ol

OF
E
<
ok
oy
il
ar

D
N

n

-

w
T
[
13
il
20
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w
z
[
0H
oF
=
]
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401 AIEHIZ 2 HYI
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A 222X =1
M NSEU=XE &=
tel: 2oz B84 (SH9: &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 750,000 0 750,000
OZENS2tHH (ME23tdH) HE 750,000
s 300,000
[ia 450,000
Fod=XN2Y TSR & 186,920 158,000 28,920
= 118,890
< 13,498
[ia 54,532
g data 24 22,000 22,000 0
307 21201 A 10,000 10,000 0
05 RIZtIE = 10,000 10,000 0
Oxz2dst2t 2 10,000
308 XX EHH SOl A 12,000 12,000 0
07 IXNHMARE = 12,000 12,000 0
Ox2dgstat FoAUDAZS 12,000
EEgRINE2Z0EA(EX) 163,920 135,000 28,920
= 118,890
< 13,498
[ia 31,532
307 glz2tol & 163,920 135,000 28,920
= 118,890
< 13,498
s 31,532
02 It M AHE X 163,920 135,000 28,920
O=gasolE8d Aty XI& 163,920
= 118,890
= 13,498
s 31,532
FRrEdY AE 1,000 1,000 0
201 L2l 1,000 1,000 0
01 At 221l 1,000 1,000 0
O=sgAHI 25 1,000
2o E& e 1,168,658 2,176,679 21,008,021
= 172,060
< 436,749
s 559,849
Z3 M =X 2l 1,168,658 2,176,679 A 1,008,021
= 172,060
< 436,749
s 559,849
23 2tel 43,100 237,700 A 194,600
101 @14l 3,600 0 3,600
04 JI2ZtHZ22HEE = 3,600 0 3,600
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2N
X ZH -
L= B

el

z 0
ﬂ
e
S|

Ho M0 MO

tol toi ton

30

pa

e

= o]
o

CHE - EI(BA) - NRAY - BYS 0l &k o4

!

=

M
2Hm
==
£l
Ol
0y

HJ

20,773
OSNE =& F| 99, 100
49,550
49,550
76,109
38,055
38,054
03 Al & = CH bl 3.884 3.310 574

O2+2ME ZeFH| 194
97
97
OYMAMOIARE 24 FH| 205
103
102
OB 24FH| 900
450
450
540
270
270
454
227
227
OSME F# I 900
450
450
OB AN 24HH| 691
345
346

Mo

O
0
=
0
=
=
2
T
4
0
=5

Mo RUNLY Mo M

O
[
2
x
0
T
1
04
==

UL

e
(11
(pal
s
{0
o
1
04
=5

M

M

M

HSAME WAL 2= 286,000 0 286,000
143,000
71,500
71,500

MR

402 212t X201 & 286,000 0 286,000
143,000
71,500
71,500

Mo R

[m]

U

02

e

AMNLSEZ(0IETHE) 286,000 0 286,000
LHAIAE 2= 171,000
85,500
42,750
42,750

115,000
57,500

28,750
28,750

[
[

Kt
=

O
iy

02

MR

OollE Y STAIAE 7

S

U AT

SHNEESM £ SE2SM 28X 112,600 1,112,000 A 999,400
29,060

H
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=

i3]
ﬂ
A
B

23R B& 22|
23 S X2 (e H)
SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
= 16,770
= 66,770
101 Q121 H] 2,400 2,400 0
= 1,680
&< 360
= 360
04 JI2ZtHIZ2 2 NEE 2,400 2,400 0
OFAHAIIE= & 2,400,000 1Al 2,400
= 1,680
& 360
= 360
401 Al HI L 2 0HHI 110,200 1,109,600 A 999,400
= 27,380
o=} 16,410
= 66,410
01 Al&H| 110,200 1,088,900 A 978,700
OFAIIE= MEEH MAaAY
9,600,000 =14l 9,600
= 6,720
& 1,440
= 1,440
O3t L EH HHIAFY 50,600
= 20,660
& 14,970
= 14,970
OYAXNIZAXNAES S&EH 50,000
2ot B4 2 F=HAY| 30,000 10,000 20,000
401 Al HI L £ 0HHI 30,000 10,000 20,000
01 Al& B 30,000 10,000 20,000
O23M B+ & =HAH 10,000
OllsS&E 2stetzr A X 20,000
S2X23HM UtE 22l Al A8 R 9,158 4,579 4,579
& 4,579
= 4,579
401 AlEHIZL 2 0HY| 9,158 4,579 4,579
& 4,579
= 4,579
01 Al&EH| 9,158 4,579 4,579
OSXE23HM UHA Zte| Al 9,158
= 4,579
= 4,579
JIOFAF 2 AN & EHHIALSY 200,000 300,000 A 100,000
= 100,000
= 100,000
207 I & 200,000 300,000 A 100,000
= 100,000
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EX: 2322 X =1
M 2RA B 22
2 23t X2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 100,000
01 g EAH| 200,000 300,000 A 100,000
Od=xc2 EEHAY Y2 XA 180,000
= 90,000
= 90,000
OQHAUL 24 23 A2 XA 20,000
& 10,000
= 10,000
UAXRAS A 25 10, 103,535 8,674,554 1,428,981
= 450,000
Fag 1,500,000
o=t 359,900
= 7,793,635
INESPIE-IPSE= A 4,960,885 4,026,554 934,331
= 450,000
g 700,000
o=t 359,900
= 3,450,985
AR AAMAT SHAIS 583,885 364,839 219,046
201 Yet2 | 55,260 53,144 2,116
01 AL 22l H| 48,060 48,344 ~284
O HE(MHIAH) 28 S= +48
2,000,000 =1 2,000
O X=D8 24 5,000,000 x4l 5,000
O DEEZ FHA DID &4l
500,000 =120 & 6,000
OXXHOtOIE & XX20E YA=XE A2
18,000,000 « 1Al 18,000
O s BIotME &4 3,000,000 3,000
O XNX2J/N8E 2| 8,000 x62 x95! 4,560
O YAaNXE= EBEEE ¢ 475,000& *203] 9,500
02 E232%H| 7,200 4,800 2,400
OYAXEZAAN2SB2 29 600,000& x12& 7,200
202 04| 7,000 7,000 0
01 2Ll 7,000 7,000 0
O XXDJ|&ze g4 4,000,000 14 4,000
O XEXZEHAH g2FN 3,000,000 =1 3,000
307 2Iz2to| A 261,000 51,400 209,600
02 QI AAIE E X 261,000 51,400 209,600
O YdaNXXx 2 & 031e 43t
20,000,000 = 14! 20,000
O YdAaxI=ots 2523 XN
10,000,000& *70% 7,000
O YANXZRe| oEAdS XFAY
20,000,000 *90% 18,000
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EX: 2322 X =1
HMa: QAR Zae FMAAS
e XNEDINE Mg (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O SN ZE0) OE E85t(188 NS
Rkok) 182,000, 000* 1Al 182,000
ORAEZS Mzl XNH 12,000,000 12,000
O YANXKNZEHEHS M=l XA
10,000,000 = 1Al 10,000
O YANXEE=H HE22H Ho XA
12,000,000 » 1Al 12,000
308 MXISHMSOIA 66,000 31,500 34,500
07 AIXISHHZ2ES 2 30,000 0 30,000
O=ZSE3IANIEES MCESHAY
30,000,000 x 1Al 30,000
08 I 20 HstE = 36,000 31,500 4,500
O &=2xX=2NstnNssn A8=2 JeEz XJ
A 72,000,000 x50% 36,000
401 AlEHIZL £ 0HY| 93,837 100,720 6,883
01 Al& b 93,000 100,000 AT7,000
Oe=sSHA EBEMNEHY SE=EZ2A
30,000,000% 14! 30,000
OLAXNRRAIZTARA XS B3 A
33,000,000% 14! 33,000
OYMTI XA B P4 LA 2128 3
At 30,000,000% 14! 30,000
03 AlE 20| 837 720 117
OAEZAF AIE20HHI 93,000,000%0.009 837
402 SI2vXHE0| ™ 100,788 121,075 N20,287
03 QI 2t EF A HI 100,788 121,075 N 20,287
O ARAHTY MBI AMY(XNEZ=EE S A
) 2,652,500, 000& *x3%*50% 39,788
O HAMNKSEABMAMA (AN Z=SEHHAMNY)
83,000,000& *50% 41,500
O FSSMA A IIE XA
8,000& x7,0004 *30% 16,800
O YsT201(2H) AHEE X
5,400, 000%50% 2,700
H2J| ANEsASHdET2HAH 3,050,000 1,420,000 1,630,000
Fag 700,000
= 350,000
= 2,000,000
307 QI2t0| & 820,000 820,000 0
Fag 355,000
= 265,000
= 200,000
02 QI2tAMAIE E X 520,000 520,000 0
OYAAXXZHAAEH AIYE 2 100,000
Fag 40,000
& 40,000
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EX: 2322 X =1
Hu: QARXAY WAL
e XNEDINE Mg (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o 20,000
OYAX AN HAA 25 60,000
g 30,000
o= 20,000
= 10,000
OYANX X DAY X SAS 50,000
Fag 20,000
= 25,000
= 5,000
OYANX = EEZ20HHE 250,000
g 80,000
= 50,000
2 120,000
ORJIBYH A4E X
90,000,000 x66 .666% 60,000
hag 35,000
o= 20,000
= 5,000
04 SIZ2ISHAMAISHE E X 300,000 300,000 0
OYANXE =M K= 300,000
Fag 150,000
& 110,000
= 40,000
401 AlEHI 2L 2 0HY| 2,200,000 0 2,200,000
= 325,000
& 80,000
= 1,795,000
01 Al&H| 2,200,000 0 2,200,000
OLAXXHOIIE RIIIE2Z MAAAIFS 1,700,000
= 325,000
o= 80,000
= 1,295,000
o178 LAXXHOHIZE SIIE23 23 MAAA
N (ZE3Y, £H|0.35Y,2H[1.65¢) 500,000
402 SI2tXHE0| & 30,000 600,000 A 570,000
Fag 20,000
=} 5,000
= 5,000
02 QI2ZtXIE A E X (0| X THSH) 30,000 600,000 A 570,000
OLAXNEZHE2ZE RH =X HEXA
50,000, 000%x60% 30,000
= 20,000
= 5,000
= 5,000
YANKIZZ=H =2 (RHH) 408,000 408,000 0
201 et 9| 2,000 2,000 0
01 AP 2t 2] H| 2,000 2,000 0
OXEZF M EH &l 2,000,000 =14l 2,000
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EX: 2322 X =1
HMa: QAR Zae FMAAS
e XNEDINE Mg (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
202 o4 | 6,000 6,000 0
01 2L I 6,000 6,000 0
OYANX = =EHF=H 3,000,000 x4l 3,000
OUE =H dXx ot 3,000,000 =14l 3,000
307 2Iz2t0| A 400,000 400,000 0]
04 SIZ2ISHAAISH E X 400,000 400,000 0
OYANXEZ=EM =T 400,000,000 « 1Al 400,000
SH=sE2R0(EH) X 72,000 72,000 0
& 9,900
= 62,100
307 2iz2tol & 72,000 72,000 0
= 9,900
= 62,100
02 QIZ2IA AAIE E X 72,000 72,000 0
OYdsc01(8H) N
2,500,000 120 & 6 *40% 72,000
& 9,900
= 62,100
BAAAR R EAANA (2Y) 485,000 900,000 A 415,000
= 242,500
= 242,500
307 2iz2to| & 485,000 830,000 A 345,000
= 242,500
= 242,500
02 QIZHA AAIE E X 485,000 830,000 A 345,000
OYANXE B6RHAY XPEHALY
485,000,000 1A 485,000
= 242,500
= 242,500
BAFAFA X R EA A (AIA) 362,000 0 362,000
= 207,500
= 154,500
401 AlEHIZL 2 0HY| 150,000 0 150,000
= 75,000
= 75,000
01 Al&H| 150,000 0 150,000
OLANK X 6XAHE X REHAIS
150,000,000 =14l 150,000
= 75,000
= 75,000
402 BI2H X201 M 212,000 0 212,000
= 132,500
= 79,500
02 QIZEXIE A EX (0| XM THL) 212,000 0 212,000
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EX: 2322 X =1
HMa: QAR Zae FMAAS
e XNEDINE Mg (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OLANK X 6XAHE X REHAIS
212,000,000 = 1Al 212,000
= 132,500
= 79,500
X2 DBt = 1,002,000 1,202,000 A 200,000
AUAX R 2229 1,002,000 1,202,000 A 200,000
202 044l 2,000 2,000 0
01 2L I 2,000 2,000 0
OYAXEZHOtIIA &2 29 2,000
306 52 500,000 500,000 0
01 52 500,000 500,000 0
OYAXXHOIIIE &2 500,000
401 Al HI L 2 0HHI 500,000 700,000 A 200,000
01 Al& H| 500,000 700,000 A 200,000
OXXZHOIHIIA} XNXOIS2H RE2 HEZ
At 500,000
XNRQAEARA Y 530,000 530,000 0
ANRRAZARA 22| 89 530,000 530,000 0
306 52 530,000 530,000 0
01 s2 530,000 530,000 0
OLAXN XA SAHAR A EHZ 530,000
X EZISHH =& 2435 3,610,650 2,916,000 694,650
Fag 800,000
= 2,810,650
QIAX|AHOIIIA AMPHZE A0 =4 1,600,000 1,413,000 187,000
= 800,000
= 800,000
401 Al HI L £ 0HHI 1,600,000 1,413,000 187,000
g 800,000
o 800,000
01 Al& B 1,600,000 1,393,000 207,000
OLAXEZHOIIE AFAHE HOIY ALY 1,600,000
Fag 800,000
= 800,000
XZHOIE23 ZHAMY 2,010,650 1,503,000 507,650
202 044l 3,000 3,000 0
01 2Ll 3,000 3,000 0
O XNXHOZ2AXH g2 3,000,000 3,000
401 AlEHIZ 2 0HY| 2,007,650 1,500,000 507,650
01 Al&H| 2,000,000 1,500,000 500,000
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A 222X =1
HMa: QAR Zae FMAAS
Sl XA =8 2435 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O YANIZE =Z=H0ts& X000l
1,500,000, 000& 14 1,500,000
O LAUNIIZE =sZEHIOER] ZEAMY
500,000, 000%* 14! 500,000
03 A& R THHI 7,650 0 7,650
O AM&3A 20l 7,650,000& 7,650
CN22E ¥ SAN2IEE 3,352,796 1,840,251 1,512,545
s 1,140,000
< 36,708
i 2,176,088
S M2 SFMA 3,352,796 1,840,251 1,512,545
as 1,140,000
< 36,708
e 2,176,088
S 222 114,436 155,531 A 41,095
101 @124 dl 1,936 3,911 A 1,975
04 12t Z2XREES 1,936 3,911 21,975
OENMEZE BEX 22 66,8003 x 10 x2H 1,336
O M2 S33H R 150,000& «1H x43] 600
201 24l 79,000 92,320 A 13,320
01 At 2t 2l 18,720 21,580 A 2,860
OANEES ¥ 150,000& = 12& 1,800
Oostzd3ddl =23 ¢ 250,000& 1228 3,000
Oz 25 #2¢ 400,000 »23| 800
O&=J|l |RA&cltl 50,0003 *2CH+128 1,200
O=Al 228 2Y(EY, 22 8§)
2,000,000& »14 2,000
OSNS 22Xt B2 (X2 M2 ELEH)
10,0002 61 A&+ 123 720
OZNMEeS8S(OIH, 28 B2 )7
2,000,000& »14 2,000
oM 2225 7¢ 500, 000& *43] 2,000
OFJIAdEE =2 100,000 158 1,500
O0EXE M2 =2 1,000, 000& 14 1,000
OZ M2t S2HI(3-108 OF2toH2)
8,000 x 1 %200 1,600
O=2QEANAH AIEZ 1,100,000& 14 1,100
02 232gHl 38,280 43,740 25,460
OXIIRS 1,000,000& »12& 12,000
O=&e3 50,000 x12& 600
O2MZEHY AIB= 450,000 123 5,400
OSelZHl AIAE 2 CCTV 2R AHEZ
250,000& 1228 3,000
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A 222X =1
M THZR2E L SHNESTE
ool AT BEM CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZMZtelAIAE 2 AH R (RS2
Z8) 180,000& » 128 6K A& 12,960
OEMZ W AIAES Al X 22/l
1,000, 000& *23| 2,000
OHIIEUAH =3 1,000, 000% 14 1,000
OLXNEEsS ANEE 10,000& =128 120
OXdt == A EY 300,000& »23| 600
OEAM2 &3l 200,000 *3JH E+ X 600
03 A2 Z Hl 22,000 27,000 A5,000
O=2 sN Z208 2g 10,000, 000 10,000
O2=&dx & Bdslg 228 29
10,000, 000 10,000
OEAME =2t SHY & A 2
1,000, 000*23] 2,000
202 o4dl 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
OAMa 29 ol 2,000,000 2,000
301 et A3z 1,500 2,300 A 800
09 &AL HIZ &S 1,500 1,500 0
O=x8 =AMsotel 2¢ XA 500, 0003 =14 500
OMsIIE XNFSAX #sHl  20,000& x5038! 1,000
405 TtabF S| 30,000 45,000 A 15,000
01 AL EFFHSHI 10,000 20,000 210,000
OEMa 28 7¢ 10,000, 000& 14 10,000
02 =M=l 20,000 25,000 A5,000
O=EMtz (22X, 0es 5) 7
10,000& »2,000& 20,000
RecHE 2l N 122,360 141,720 19,360
< 36,708
s 85,652
101 @124 dl 69,680 89,160 A 19,480
< 20,904
[ia 48,776
04 JIZHHZ2XNESE = 69,680 89,160 A 19,480
OXSETMZ o12AHl X2 (Z2S,0t2g0==U
2 XA 1,760,000& » 128 »30 & 63,360
< 19,008
[ia 44,352
OXEZT N U2z JI22E3
120,000& » 122 »30 & 4,320
< 1,296
s 3,024
SUNY HSEHB FATE ARY
500,000& x2& +23| 2,000
< 600
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A 222X =1
M THZR2E L SHNESTE
ool ST BIMM CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 1,400
201 ¢4l 19,680 16,560 3,120
< 5,904
s 13,776
01 At 2t 2l 9,680 10,560 A 880
OF2cAN2d 2 (RANMLE, OSUS)
1,600,000 *20H 2~ 3,200
< 960
s 2,240
OXST N 2Z(ZE=,0t201, KAL)
2,160,000 =304 A 6,480
< 1,944
s 4,536
03 A2 Z Hl 10,000 6,000 4,000
OXec AR Z2Id 29 X
2,000,000 *5H 2~ 10,000
< 3,000
e 7,000
405 RHoHF S HI 33,000 36,000 A 3,000
S 9,900
s 23,100
01 et EZFH S 2,000 5,000 A 3,000
OUSUS H2EAHZ 28 7Y
2,000,000 » 104 2 2,000
< 600
e 1,400
02 = A=l 31,000 31,000 0
OXSENZ TA7E 5,000,000& *504 & 25,000
< 7,500
s 17,500
OSHStA2CH2 TR (HH &F)
3,000,000% *2J4 A& 6,000
< 1,800
[ia 4,200
N2 29 245 16,000 30,000 214,000
201 Let24d] 15,000 5,000 10,000
02 2324l 10,000 5,000 5,000
OXAIE 252 X222l 5,000,000+ 14 5,000
OXB2TNZ AME |X B
1,000,000 *5H 2~ 5,000
03 A2 Z Hl 5,000 0 5,000
ONSTHE HEEs ¥ T2 29
1,000,000 *5H 2~ 5,000
301 gt 4= 1,000 0 1,000
09 SAAHIEA S 1,000 0 1,000
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A 222X =1
M THZR2E L SHNESTE
ool ST BIMM CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXSC M2 2AX 223 Ny 23
1,000, 000& 1 1,000
Qe B3N HE 3,100,000 1,500,000 1,600,000
s 1,140,000
[ia 1,960,000
401 Al HI K 201 I 3,100,000 1,500,000 1,600,000
s 1,140,000
s 1,960,000
01 A& HI 3,028,630 1,494,600 1,534,030
OSSN ZAHE At 3,028,630, 000 3,028,630
s 1,140,000
[ia 1,888,630
02 2teldl 63,000 0 63,000
O M22E 2l 63,000,000 63,000
03 Al 2 THHI 8,370 5,400 2,970
OIS AM2HE 20U 8,370,000 8,370
oI EH 1,517,200 2,160,000 A 642,800
= 250,000
s 500,000
< 250,000
e 517,200
NASZEE 0lEAE 1,517,200 2,160,000 A 642,800
= 250,000
s 500,000
< 250,000
e 517,200
At 2o & MEZZX ZAAY 1,000,000 1,650,000 A 650,000
s 500,000
< 250,000
s 250,000
401 A& HIZ 201 Y] 1,000,000 1,650,000 A 650,000
s 500,000
< 250,000
s 250,000
01 A& HI 1,000,000 1,645,000 A 645,000
Odx=4 29 & 22X Z4AMY
1,000,000, 000& 1,000,000
s 500,000
< 250,000
e 250,000
A 20 = MEIZZX LAY (XA 17,200 10,000 7,200
201 ¢er24] 5,000 5,000 0
01 At 2t 2l 5,000 5,000 0
OdE22X 82 5,000,000& x1& 5,000
301 et a3z 4,200 5,000 A 800
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2AM: 232X =0
dM: GAsEZEA
& NHHEIEH 0IAE (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
09 HALAHIEA S 4,200 5,000 A 800
OF A3t ALY 4,200,000 14 4,200
308 XtXIEHH SOl A 8,000 0 8,000
10 BN 2SUHUE3 &S A 8,000 0 8,000
O&=4 Ml T2788 Jiegr 8,000,000 =14 8,000
28S 228 =dl2 ZEAMY 500,000 500,000 0
= 250,000
s 250,000
401 AIEHIZ 28I 500,000 500,000 0
= 250,000
s 250,000
01 A& Hl 500,000 497,000 3,000
O=23s =238 =dlZ 2dAMY
500,000,000 500,000
= 250,000
s 250,000
frei S Sard a4 5t 3,543,200 0 3,543,200
s 1,050,000
< 245,000
s 2,248,200
grel S S48g sy 3,543,200 0 3,543,200
s 1,050,000
< 245,000
s 2,248,200
SSS=2YIAMNEEXNNA 3,500,000 0 3,500,000
s 1,050,000
< 245,000
s 2,205,000
401 A& BIZ 201 8] 3,500,000 0 3,500,000
s 1,050,000
< 245,000
[ia 2,205,000
01 A& tl 3,495,000 0 3,495,000
O B3S=2ERAE EXXAAY
3,495,000, 000& 3,495,000
s 1,050,000
< 245,000
s 2,200,000
03 Al 20 HI 5,000 0 5,000
O 33S=2ERAE EXXAAY
3,500,000,000& +0. 14284% 5,000
greisEdy s4d F48 43,200 0 43,200
301 L2 A F 43,200 0 43,200
06 212toI= 2l 04 Hl 43,200 0 43,200
O BleisSdgsd 2@ M 2Ad=+ 43,200
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e e [{o

52X =t
HESMYHH S
HESMASY

SA - ZE-B(EA) - NRAY - B S il &t o il
— QI2tol 4,000,000 * 11 *80/100 35,200
— N2 4,000,000 *2H 8,000
HY2FZH (222X =0 102,516 49,452 53,064
el 2l 50,412 4,200 46,212
oI olHE2Y 50,412 4,200 46,212
101 @14l 50,412 0 50,412
03 RIAHAAZZRHE > 50,412 0 50,412
O=std g3zl Ry 22,000
OUsts A2 M2 el 28,412
—Jl=s 66,800 253 16,901
— &0z 16,901,000% «4/12 5,634
—ReFsrE 66,8003 *53=F 3,541
—Qx=g 66,8003 17 1,136
— BES0td| 600,000& »23] 1,200
=2l 52,104 45,252 ,852
=St X 20 Jl23 I 52,104 45,252 ,852
201 Let2d] 21,384 20,412 972
01 At 22l 21,384 20,412 972
OS2l &t 17,108
OSgHl A0 at 4,276
202 o4dl 25,920 24,840 ,080
01 = LH o4 1l 25,920 24,840 ,080
OS A0l &t 25,920
203 YR =2 4,800 0 ,800
04 NI FAH 4,800 0 ,800
O =20 2EA2H 400,000& x12H 4,800
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